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n | 110

Y% - ¥ / SBECTION - A
TS w / Objective Type Questions

ueston Nos. T to 100 have four options, out of which only one 18 corredt
Answer any S0 questions. You hape

to mark your selected opton on the
OMR-Sheet

50 » ] = ()

| ﬁfmm"‘ﬁﬂfiaf%llﬁnﬁﬁmzéﬁmﬂmwm

AU
[C]' K lD| 4

If Sth term of an AP is 11 and common difference is 2 then what
is i1ts first term ?

Ay 1 By 2

() 3 D) 4
1 n9E) Al HUTA A &AM n? +2n+1 R Al §EEHT 6 31 2 R
(A} 29 B) 19

)y 15 (D) A wg A

The sum of an A.P. with n terms 15 n? +2n +1 then its 61th term s

(A) 29 B) 19
(C) 15 (D)  none of these
S8/A/605 Page 3 of 44
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n by

Frafeafign & &3 g adt 4 B 7

A} 1. 7.9 16 By x“. 1-*; S

() v, 2x, Ax, 4x D) .!“', -1".'1'3.""'J~

Which of the following is inan A P ?

Al 1.7.9, 16, . O T A o

() x 2x 3x, 4x, Dy 2%, 4% 6. 8%
3 TrafEfae 4 @ mmne wdf dal 2

Al 1,2, 3,4, B} 3.609 12 .

C) 2,4.6.8, . Dy 2%, 44, 6% B4,

Which of the following 1s not in an A.P. ?

Ay 1,2,3.4, (B) 3.6,9, 12, .
(C} 2,4.6,8, .. D) 2% 47, 6% 82
5. waE A 1,4, 7, 10, .. & Tem 20 9@ w1 ITHA R
(A} 300 (B 540
(C} 590 D) 690
The sum of first 20 terms of the AP 1,4, 7,10, s
(A)  S00 iB) 540
(Cy 590 (D) 690
| 8S/A/605 Page 4 of 44
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qufﬂfrlﬂ o fi.ﬂim MM | o wirar B o

J L]
iA sin® 60 . : ’
| s con 60 (8) siN Y90 = cos B0

{C) sin® B0 .
! D) sin45 » — l——.
cos 45

Which of the ft}llnwmg values is equal to | ?

r\ : J - - . - = -
(A} sin® 60 + cos &0 (B sinn U0 = cox B0

2 g .
{C) 8in“ (A0 D} sinds «x L

&
cos 45

cos? A{1+tan? A4) =

\,.'
[A) sin? A (B) cosec’A
(C) -1 (D) tan’A
8 tan30 =
(A V3 (B) “?‘
C)~ ~1 Dy 1
A |
G - cos 60 =
1
—C e Dy 1
L8 ) o
85147605
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1
J 10

1o, sin® 90" —rtan® 45
.
1]
{A) ] (B 5
. | 0
= D
iC) 5, (D)
11, fa= (8 sin 60°, 0 ) @0 (0, 8 cos 60%) & dra 1 g R
A}l 8 By 25
C 4 D _l
(€) 6 ) 2
The distance between the points [ 8 sin 60°, 0 | and
(O, 8 cos 60°%) 1s
(A) 8 By 25
: o L
(C) 64 (D) 3
12, 4fe O(u,m{aﬁqﬁlmhqpthému,ynﬁmqﬁ opR
2. 2
(W &2 -y? (Br X +y
) x?-y? D) & & A
If O(0,®) be the origin and co-ordinates of the point Pbe [ x, y)
then the distance OPis
}
(A) IZ - y.ﬂ (B) x?. +y°
(C) x? —92 (D) none of these
F"F' A&’Ui Page 6 of 4

https://www.bsebstudy.com


https://www.bsebstudy.com/

q B ) 110
k:l y-HM H W (2, 14;;&1-,;9'.
(Al 12
B) 14
iy 13
D15
The distance of the point 112, 14 ) from the y-axis s
h 12 B) 14
<13 Dy 15
w g (-6.-8)Hamh
A} -6 AB}—-8
€} 6 D) 8
The ordinate of the point (-6, - 8 )is
(A} -6 By -8
€ 6o D) 8
Js- TR (3, -4 e mifRai-?
(A) wuw B fda
€ i DY g
In which quadrant does the point (3, -4 ) lie ?
(A) First (B) Second
(C) Third (D}  Fourth
|S8/A/605 | Page
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n !]lf]l

_ Yo Fafafen 4 e-m fag fofa aquin i fi 2 2
(A) (3, 2] (B -3, 21
© 13,2 G (320
Which of the following points lies in second quadrant ?
Ay (3, 2) By (-3.2])
G 13, -2 o (-3,-2)
17 famE 4 - a ) a2, 4w TemeE s & 0w faR @
ELUCH
(Al (4.4 B) (0.0}
€} (0,-4) D (-4,0)

The co-ordinates of the mid-point of the line segment joining the

points (4, -4 Jand (- 4,4 ) are

(Al (4,4 B) (0.01
(€} (0.-4) D) (-4,0)
18, TEEVE AB & uw fam (2,4 )R ol fag A & famw (5, 7)) R @ famg
B % fams §
A (2,-2) B (1.-1}
€y (-2,-2) M (-1.1)

The mid:point of line segment ABis ( 2, 4 ) and the co-ordinates of

point Aare (5,7, then the co-ordinates of point B are

Ay (2,-2) By (1,-1)
C) (-2,-2) D)y (-1,1}
SS/A/BOS Page 8 of 44

https://www.bsebstudy.com


https://www.bsebstudy.com/

fa da &

&7 & R R

I'he ._1;-1,!I'dlnﬂll:'b ol the L

and | -
A (-2,-2)

() |~ 2,2)

By (2 2)

Dy (2,-2)

(B) (2, 2)

D) (2 -2)

110 |

iﬂnlﬂ : = . . W =.
0 B 0 A ( h L0 R AAN &

nds of a diameter of a circle are ( 10, - 6}

6,10 _
I Then the ¢q ordinates of the centre of the circle are

0 e RRH B & ol & Bdwim (4,6 (0,4 3 (5,5 # A B

+ &7 & e B

A 15,3

€y (4,4)

B) 13,49)

D) (3.5)

The co-ordinates of the vertices of a tniangle are (4,61, (0, 4) and

{ 5, 3} then the co-ordinates of the centroid of the triangle are

Ay 15,3) B)  (3,4)
[C)  (4,4) D) (3,5)
J-7sin(90" - A) =
(Al sin A By cos A
(€] tan A (DY sec A
WA LBUS | Page 9 of 4
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[ )
L]
LR

24.

A

!Ifd TE H:t]tl. ﬂ‘] F“ cos|a -4 &1 HiH #

P [

(3 1
(C}) (§] (D) )

_—

Il a=p=60 then the value of cos(i-B] 15

(A) -1; B !
i)y 0O (0} 2
Q0 = 45° A M sin 0 + cos 0 & °A B
(A —j-_;; B  J2
(C) % D) 1

If 0 = 45 then the value of sin O ¢+ cos ) is

§
Al —= B 2
5] B) V2
(C) % D)y 1
afg 4 =-30°m A _z_liﬂ_}d._aﬂmt
1-tan“ A
(A} 2 tan 30° (B) tan 60"
(C} 2 1an 60° (D)  tan 30°
If A = 30" then the value of r—é% 18
l=tan™ A
(A) 2 tan 30° (B} tan 60°
(C} 2 tan 60° D)y t1an 30¢

| 11,

' SS/A/605 |
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5 Hf(: IHTIRL ]': Al Ml LIRRLE 3 14 P
(A —'-]] . P2
12 {H) f_.'-
. 5
13 1D 1—.:‘?
§ l.ant*'rl—‘—E then the v; [
5 e value of sin 0 is
; 2 2
(A v (B) %.__{
- Q2 12
33 U
c3s 59°  tan 80°
) = =
<0 st 31° cotl0®
1
(A) —= By
J2
(€) —Jzi o

27. ﬂfd tan 25° x tan 65° = sin A m A Aiﬁtm-!ﬂ

(A) 25°
€y 90°
If tan 25°
(A) 257

(C) 90°

(B) 635°
(D)  45°

« tan 65° = sin A then the value of A1s
(B) 657

1Dl +‘5‘|

S5 A/605
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2R aft cosin: A tan O

f 2 - X
[A) 1+ x (B) x
X
X
(C) 1~ x? (D) 2
1-x
If cos(l= x thentan 8 =
2
1+ x? 1- X
(A) - (B) -
€ y1-x% (D) L
1«-41.'2
249 (1-cos” 0} =
(A)  cos? 0(1-cos® 0) @) sin?0 (1+cos®0)
v €} mn"llll—sin"!l}) (D) sm'?nlln-un"ill
307 y.ymmfﬁmﬁ:ﬁlﬁqmmmt?
A (w0} B) (2. .y)
(€) (0, x) (D) %@ & & AE

What is the form of a point lying on y-axis 7

Ay (4 0) B) (2, y)
() (0, x) (D)  None of thesc
S8 A HO0S ) P;;.Eq- IE of
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ﬂ (_i,-_:;r.,a‘:f,‘ﬂ ﬂ ﬂ' fﬂ:ﬁq fi'ﬁﬂ'i qra= §
- i
1

| 110
BI—U':S l “"PJ ‘!.1_' h a

2 -
L 8 fx- §
(A Pix-30 L3 - Tx-A0

. 2
Ch X"+ 7x+30 D x?-7x+30

which  of the

Jand - 107

following quadratic polynomials has  zeroes

2
(A) X7 +7x-30 B  x?-7x-30

. 4
(C) X7+ Tx+ 30 (D) .xz_‘.-'x«rSU

afe &l feam wewe & s @ dvee 3 vd T Eee - 2 R, @ 9R
faura 89T R

. (A) -"2‘3-““2 (B) x?-3x+3

(C) x*-2x+3 D) x?+3x-2

If thc sum of zeros of a quadractic polynomial is 3 and thewr

product is — 2 then thatl quadratic polynomial is

(A) x?-3x-2 (B) x%-3x+3
) x?-2x+3 D) x2+3x-2
1. 4R plx) =xt-2x3+17x2 - 4x+30 W q(x)=x+2 g um femn v R
A WIIHS &1 U R
A) 6 B) 3
C) 4 D)y S
S8/A/605 | S Papgr13 of -
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n -.110|

I pixg = v - 26d 41702 - 4x+30 s divided by qlx)=x+2 they

the degree of the quotient 18

A) 6 By J

(C)- 4 my =
AT X4 2y 320, Ixeby+9=0 & fHad w7 K7 2

(A)  UH Fedq S LR G EL

JC) ST e (D) At 8/ a3

How many solutions will x + 2y+3 =0, Jx+by+Y9 =0 have ?

(A) Une solution

(13) No solution

(C) Infinitely many solutions

(D) None of these
35 2 s adevi & aanfaa afz qea @ @ el 6 asa @

(A} ] B) 2

() wahm (D) 44 € @i 4K

If the graphs of two linear cquations are parallel then the number

ol solutions will be

(A) ] (B <

() infinitely many (D) none of these

IrHS.»’.' A/ 605 Page 14 of 44
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Yoaw mdgm 5 o
q’qb.t-'l-y‘H:Utra ‘f[.hu "42'.1’
(A} "R
By  WHTA
(C)  wiiym

(D) w8 & wr{ o
The pair of linear fquations S5x-4y+8=0 and

.a'l + *"!‘ ] s

(A}  consis
tent (B)  inconsistent

(C) dependent (D}  none of these

37, e R W 3x2 5y 0000 5 o A e p? R
13
(A) = 9
9 (B) o
S
© 3 (D) %
If a and B are roots of the quadratic equation 3x?-5x+2=0 then
the value of a? +p? is
13 . 9
(A) 5 (B) 3
5 3
(C) 3 (D) 5
38 uf2 feuma whE™ 2x2 -7x- p=0 W & YE 2N A pF WA R
(A} 4 (B) -4
C)y -6 ~dBP) b o - B
SS/A/605 | . Page 15 of 41
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n lll“i

. L b b
IT une root of the quadratic equation 2x° -7x -~ F U 13 2 then thi

vilue of p s
(A) 4 B -4

i€y -6 D) 6
5 i .3 - - -
39 ufe fram wdem vl v h=( ® TR PH — R A gEE ZHU r{-—d?

(A

[
| )

(B
. K

[ = K}

L 2 (D)

} : - 3 " #
If one root of the quadratic equation 2x° - x-6=U 18 =~ then 1ts
another root 1s
(A} -2 i8] 2
. 3
¢ 5 D 3
(L} 3 !

40, foam adfteer 2x? - 6x+ 3=0 & A & 'ﬁn‘ﬁ Sl
(A} aTETEE T SHEE (B) aTATa® U§ HUHA
(C) anafas T D) A A w1 T

What is the nature of the roots of the guadratic ecguation

Ix? —Br+3=07

{A) real and unequal (Bl  real and cqual
(C] not real (D)  none of these
S8 A 605 | _  Page Lo of 41
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L), B(O, 5 va - .o, thod
VOS5 C(a g fl anpe @ oivd & 9 anpe s

HI%A (g g 1) 3

PRI | A Y

[A) 16 (B) .
‘C] (5 “J] a
If A .
(0. 1) 8ro,5 Jand C( 3, 4 ) are the vertices of any AABC |

then the area ( in square unit ) of AABC 18

€) 6 (D) 4
\j;../’lan 10° . tan 23" . tan 80° , tan 67° =
(Al O . (B} 1

€) 3 N

Ja

(437 3 2 wE et & dawe 1 dEAE 100 ¢ 144 B, @ 3 ER

&1 9T R
(A) 10:8 (B) 12:10
\NC) 101 12 (D) 10:13

If the ratio of arcas of two similar triangles 1s 100 : 144 then the

ratio of their corresponding sides is

C) 10:12 (D) 10:13

'SS/A/605 |

Page 17 of I
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n RN

b et ga @ @ wem facg s @ ufeasten @@ ar=h ta e R
YR 1 () e T
(C) e D) ¢ & ®1¢
A line which intersects a circle in two distinct points s called
(Al Churd (B)  Secant
[C)  Tangent (D}  None of these
15 4 ‘uEY Byat € yard 4 9 % e 4 ?) P & Hawel &
| S fweren w@im -
(Al 9:4 (B) . 16:81
(C) B1:16 "(m 23

The corresponding sides of two similar triapgles are m the rauo
4 : 9. What will be the ratio of the areas of the triangles ?

(Al 9:4 By 16: 81
(C) 81:16 Dy 2:3

46 AABC -ADEF AW BC = 3 8ft, EF = 4 8@l 81 afz AABC 1 &awa
54 a2 A, A ADEF & 8a%a R
(A] 56 afi? (B) 96 A2
(C) 196 &2 (D) 49 &M

AABC -ADEF and BC = 3 cm, EF = 4 cm. Il the area of AABC is

54 cm "2, then the arca of ADEF is

(A) S6cm ‘ B) 96 cm?
(C) 196 cm? D) 49 cm?
[ SS/A/605 | Page 18 of 44
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n P10

37, P & ARCT A - QO BC 1l ag - (omb W ACF gE R

Inany AABC, /A - 90°, BC - 13 em, AB = 12 em  then the value of

ACs
(A) dcm (B) 4cm
(C}] Som D} 6cm

8. ADEFam ApQR W faom 2 f& op - comm 2R - o E & Faafafea 8

-8 1A 2 o
(A) FF=2p By JF =./0Q
(C) £ZD= 2P Dy ZE=:P

In ADEF and APQR 1t is given that 2D = £Q and £R = /E, then

which of the following is correct ?
(A} <ZF=/4P (B) 4ZF = £Q
(C) <£D=/<P (D) ZE=/P

AB_BC _ CA :
= = d 7 - o )
DE FEF DF Al 0

49 AABC Vd ADEF 38 War 2 f&

o B=80"d /F & um 2

A} 30° B) 45°
(C) 60° (D} 40°
8S/A/605 Page 19 of 49
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P10

n AH ](:E_' ; (_{1_ aricl A v,

AABC and ..-".DEF are such thal ni - EF )
. H= 80" then the measure of ~Fs
(A] 30V B 45
() HO" (D) 40"
s0. @ ufwed) gei f gl T &) ae R
IA) | By 2
153 N (D) HAlHd

- . _ . qroles 1s
'he number of common tangents of two intersecting cit I

A H) 2
< 3 (D) infinitely many
-J/ i L [
51 @ el % WTaeEl F1 I 64 125 R Al Ik GHRA REEE KT AT ?
A) 25:8 (B) 2516
(C) 16:25 _ (b} v A

The ratio of the volumes of two spheres is b4 1125 Then the rato

of their surface arcas iIs
(A)] 25:8 (B) 25:16
(C) 16:25 (D) none of these
52. @ Wod| i Fasanall @ HAUM 4 : 5 R G5 IR FAgE 1 999E 6 ¢ 7 A,
1 I HGEAT +1 A9 B

(A) 96: 125 B) 96:175
[C) 175:96 (D) 20:63
1 e -
| SS/A/605 Page 20 of 44
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ghts are

] C 4w ¥ 4 -
The radus of two cvlinders are in the ratio 4 5 and their el

in the ratto 6 7 Then the ratio of their volumes :s

o

(A) 96 125 B) 96 17
(€] 175 96 (D) 20 63

53 REFme@ ydmawmapiqmwnR?

(A} =R’ (B) 2xR’

(C) 32R? (D) 4R’

What is the total surface area of a hemisphere of radius R ?
Ay =R? B) 22R?

(C)  3=zR? D) 4nR?

54, uf2 fell v & e & dawe 880 &2 R v 14 & R A R
fodw Seard ?

(A) 10 i (B) 20 Al

(C) 40w (D} 30 @

If the curved surface area of a cone is 880 cmZand its radius is

14 cm, then its slant height is

(A) 10cm (B) 20 cm
(C) 40cm (D) 30cm
= gf: et w7 & Rl f @ 243 i R @ wwE SR h T R
(A) 28d B) 2J3 &
() 38 D) 4@
SS/A/605 Page 21 of

o
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1110}
If the length of the diagonal of a cube is 243 cm, then the length of
iIts edge 18
(A} 2cm (B) 2¥3 ecm
) 3cm (D) 4cm
56, ﬁm‘tmmﬁmngmﬁwﬁmgmqumﬁmﬁaﬁgﬁmm
fa= T @ amm
Ay T By =TT
(C) & (D) WAR T

If the edge of a cube is doubled then the total surface area will

become how many times of the previous total surface area ?
(A) Two times (B) .Four umes

(C) Six umes (D)  Twelve umes

]

7. fodfl M@ & o g8 gawd i I B F o ¥R & @ g dawa

1 ¥ R
(A} 2.1 B) 4:9
c) 3:2 Dy 4:3

The ratio of the total surface arca of a sphere and that of a

hemisphere having the same radius is

A} 2:1 By 4:9

<y 3:2 D) 4:3
l

| SS/A/605 Page 22 of 44
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110

(A} 7 |ty (B) |4 A
€1 21 &df D) 28
If the curved surface area of a hemisphere is 1232 cm“then 1S
radius is
(A} 7cm (Bl 14 cm
(C) 21l cm (D) 28 cm
59, 42 cosO+cos? =1 M sin? 0+sin’ 0 ® 913 L
A) =1 B 1
c 0 (D) 2
If cos 0+cos? 0=1 then the value of sin 0 +sin” 0 18
(A) -1 By 1
(C) O (D) 2
P
li A
60 1+ dn2 -
l+cot™ A
24 B) -1
(A) sec
2 (D) tan®A
(C) cot” A
SS/A/605 | Page 23 of 4
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\'1

!\1

110

hod Yem am & fao fram wfteam je? — a1 =0 & HA anatas vd
Aura R o

l.‘\l & lB) "

iCh G (D) 10

For what value of k, roots of the quadratic equation kx? -6x+1 =0

are real and equal ?

€} -9 (D) 10
62 M wewe plx) ® & % 2 @, A Pnafafem & @& px) & &
TorgvE R 2
(A) x-2 B) x+42
) x-1 (D) x+1
Il one of the zeros of the polynomial p(x) is 2 then which of the
following is a factor of p(x) ?
(A}  x-2 By x+2
C) x-1 (D) x+1
63. IRER x’ +ax+b FTF a P&, M. p % 7R 2
a B -4
(A) " (B) -
c & o) -2
c c
_SS/A/605 | Page 24 of
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1 V10

If @ and { be the zeros of the polynomial ex? + ax + b then the value

isl it .

(<)

j}os

b

o

(D)

(B) P

fraferfiga @« fyam wdreo R

(A)

(C)

(x+3)(x-3)=x? -4x’ (B)

(2x-2)2 =q4x%4+7

(D)

Which of the following is a quadratic equation ?

(A) |-x+3llx-3}=x2—4x3 B) (x+3)% =4(x+4)

(C)  (2x-2) =4x2+7 (D) 4“311_=4_\-
55 ﬁrﬁ%ﬁaﬁéaﬂammqﬁay

(A) Sx-x?=x%+3 {BY xd - x?=(x -] 2

(C) -{x+3]2=3[x2—5] @/{Jius)?:ths

Which of the following is not a quadratic equation ?

(A) S5x-x2=x%+3 (B) 2 -x2=(x-1)

©) (x+3)?=3(x*-5) (D) (v2x+31 =227 +5
SS/A/605 | Page

https://www.bsebstudy.com
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n 1110

a6, feamd wftwtn 207 D7y s .0 @ fadas B

iA) 1 (B -1
Iy 27 Dy A

The discniminant of the quadratic equation 2x? —Txeb=018

Al B -1
) 27 (D) 37
07 Bfafs § @ faR x - 2 & dafas w R 2
(Al (2,0) By (2,1}
€ (2, 2) . (D) ¥ awh
Which of the following points lies on the graph of x =27
(A) (2,0} B (2,1)
) (2,2) (D) all of these

68 AR P+ 1,2P+ 1, 4P- 1 duim @ d R &) Pl AF R

A 1 B) 2
) 3 (D) 4

IfP+1,2P+1,4P- 1 are in A.P. then the value of Pis

A) 1 B) 2
c) 3 D)y 4
0%, adat 4 1, 5,9, ... HHE HaC R
(A) 2 B) 3
_cr o4 D) 5
| SS/A/605 | Page 26 of 4-
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The common difference of arithmetic progression »

| 110 ]

o, 1%

LYR: B 3
wi 4 Dy 5

AN ORE 5. 8, 11, 14, # EH-F W ISR

(A} 1ol @ 114
© 124 oy 134l
Which termof the AP, 5.8, 11,14, . 1s 387
(A} 10th B) 11th
(€) 12th (Dy  13th

@l Wouel 2-5,5-8, 8- 11, . & anl & e R

(A) 2 (B} 3
C) 4 D) 35

The length of the class intervals of the classes,

2-55-8,8-11, ...1s

(A) 2 By 3
(C) 4 (D) 35
72, gfe am sman faen wemAl & w6 R, @ weR @) qem R
(A) 45 By 9
[C) 2] (D) 15
ﬁiﬂi@i Page 27 of 44
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| 110 |

If the mean of four consecutive odd numbers 15 O then the lurgest

number i1s
(A} 45 B 9
[y 21 ) 15

73 WYY 6 WY 9THA HEEIH & wie R
(A) 4 M) 6
€L~ 7 (D) ¢34 4 i A
The mean of first 6 even natural numbers is

A 4 B 6

iy 7 (D}  none of these

o l +cot? Q) =
(A} sin?o _(B) - cosec?n
(C} tan®U D) sec’ o
750" 8,7.9.3.9,5,4, 6,7, 5% T
7 |
~8r5 B 7
(C) 8 oy ¢
The mode of 8,7.9,3,9,5,4.5,7,51is
(A) S B 7

(C) 8 D)y 9

| S§/A/605
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n 110 |

1w MR PE)=002 @ PLE ) wvar @

L -

A} 002 B 0002

(C) - 098 D) 097

If PIE)=002 then A(E | is equal to
A 002 (B) 0002
(C) 008 (D) 097

77 f‘mﬁﬂﬁmﬁmmMWuﬁa’réyﬁwW'ﬁmf‘

yifawm &3 & >
1 1
(A) 36 (B) 6
. 5 5
(C) 18 (D) 36

Two dice are thrown at the same time. What is the probability that

the difference of the numbers appearing on top is zero ?

1 |

(A) 36 (B) 6
. 5 5
T D 35

78 @) fawm & 3o § 2 9 ad I ) vt R

-

1 1
(A 3 (B) 3
ey
(G ; D) 1
NS A/H0S Page 29 of 44
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o o

The probability of getting heads on both the coins in throwing two

COMNS is
l 1
A < LY
! 3 (B3) 3
. |
(<) 15 .

4

L 79 vk @l A ouw owfm ggesm g@ w b owk o @ R 03 @

uifaawdr B
3 |
A — —
(A} y (B) >
Rl -l— l
) 6 (D) q

A month is selected at random in a year. The probability of it being

June or September is

3 1

(A) y (B) 2
y 1
© o 3

. B, Uw Y % %% 4 q5a1 4 9 5 WA K gt R

(B)

G |—

i
(A) 3

(C) (D)

wino

1
6

The probability of getting a number 4 or 5 in throwing a die is

1 1

1 B 4

(A) 3 (B) 3

. ! 2

(C] 3 (D) 3
SS/A/BOS | Page 30 of
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| 110
g1, PefafEa & sh-m MR * zmee gan am R 2

14
A (B)
29 « 3¢ 51 74
. B 15
1<) : _ D) .
22!1‘! l}‘g )‘

Which of the following fractions has termnaung decimal

expansion ?

14 9
(A) . B) —
20 la} ' 5' x?s.
B 15
C) - ; _
42, —P & wqd 0505 % o 3 wea R
-2" x5m
101 - 101
A B ———=
W 2! x52 2! x 53
. 101 101
C - (D) .
il 22 x 52 23 x 52
In the form of S , 0:505 can be wntien as
211 x.Sl'l'l.
101 101
A B) —
A 2! x52 21 53
101 101
C (D)
<) 22 u52 23 x 5%

\ 837 afe v wifa=bg+r  b=4 ,q=5 M r= 1AM aTEH TR ?

(A) 20 By 21
(C) 25 (D) 31
(Ss/A/605
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n | 110 |

I division algorithm a=bg+r, h=4, =5 and r = | then wha!

ishe value of g ?

(A} 20 (B 21
fC) 25 Dy 31
i i . X
B TR 2 dxo6 ¥ e
ny 1,3 {B) 1, 3
([ 1,-3 (1) 1.-3

The zeroes of the polynomial 2x? - 4x-6 are
(A) 1,3 B -1.3
<) 1,-3 Dy -1.-3
85 @FETR (a7t 4 ad e 2xel)(x? e 2x+1) F) UA R
A} 3 B) 4
€) 5 Dy 6
The degree of the polvnomal [x3 +xt e 2x s ) (xd e 20 el s
(A) 3 B4
L) - (D) 6

=6 hﬁﬁﬁaﬂﬂmi@wﬁﬁx

-E' - , g e
Y X7 - B} 2x° + T+ 0y

1 2 1 4
—x +=—x+4 O xe=
2 2 X

[

(C)

SS/A/BO5 | Page 32 of 44
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n | 110 ]

Which of the following is not pulynomal ?

, “ -
1A} X" =7 (B) ..!,t‘!+'.r'\ + 0
) Lyl +4 M x oA
2 2 X

37, Petetaa o fem g ome & g 2w - 282

(Al x?+4 B x2-4

I€)  x?-2x+4 D) x?+JB

Which of the following quadratic polynumials has 2eroes
2and -2 7

(Al x%+4 B x-4

() x4 -2x+4 (D) 2 +JB

BH/”‘:-II'&IEHE12.?r+10ﬁi!ﬁ$uxﬁﬂﬁﬁ1u+u35lﬂﬁt
~

'?\j‘lﬁr 7 (B)y 10

(-7 D) -10

If « and P} are the zeroes of the palynomial t2+7t+10 then the
value of ¢ + 118
(A} 7 (B) 10

cy -7 Dy -10

8G  (sin 30" +cus 30° )—(sin 60 +cos60 } =

(Al -1 By O
(€)1 oy 2
L SS/A/605 | Page 33 of 44
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|l'|”|

9O uhe Rt @wmme (k- 1)x? s kx oo | ) U® aE - A KA b e R
::\ 9
(A) " 3 B 3
Yy -4 4
() 3 {D) 3
i one zero of the quadratic polynomial (k-1)x4 +kx+] is - 4 then
the value of k is
5 5
Al -2 2
A -3 B 2
“ 4 &
C — -
(C) 3 (D) 3
91.

Rl wmg fag P 97 @ pA v pp @ ol T @th o ) a2
PA=g8fl @) pE-

(A) & ®d (B} 8 &

(C) 128d Dy 16 &

From an external point P, two langents PA and PB are drawn on &
cucle. If PA=8 ¢cm then PB =

(A} 6cm By 8cm

([C} 12cm (™ l6cm

92. Uz pAvE pB i ww feg PR #= O TR g9 0 W wr Tand #
Ud ZAPB = 80° @ /POA =

(A)  40° B) 50°
(C) 80° (D) 60°
[ SS/A/605 |  Paeddols
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n 10|

It FA and PB are the tangents drawn from an external pomt @7 1e

cirele with centre at O and ~APH = B0" then . POA
“‘\I 'li}" ‘B' 5( ,I
[y 8O° D) 60

01 g9 1 e fdt fag o1 i m oyt tan, oo e A W A4 el faet
R ®-m & w=1w koo

(A} 30° By 45"
)  60° o) 90°

What is the angle between the tangent drawn at any point of a

circle and the radius passing through the point of contact 7

(A} 30" (B} 437
) 60° D) 90°
L -ﬂiﬂﬁﬁmaﬂﬂﬁmﬂﬂ 4 2 A 396 swe #1359 R
Al 34 B 43
©y 9:16 o) 169

The ratio of the radii of two circles is 3. 4 : then the ratio of their

arcdas 18
(A) 34 B 4:3
() 9:16 D) 169
| 88/A/605 Page 35 of 44
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1 1101

G5 92 uft fa=n @ 97 & 39 Pouws e &0 w9 30° 3, & dgwe R

(A) 515 &2 (B) 416 #ft?
() 462 adi? (D) 406 #f}?
The area of the sector of a circle of radius 42 ¢m and central angle
30" is
. 2
(A) 315 em {B] 416 cm
[C}] 462 cm? (D} 406 cm?

o, € gl HI wffedi & ageE 5 7 R @ T B & e R

Ay 7:5 B) 5:7
e 25:49 (D) 49:25

The ratio of the circumferences of two circles is 5 : 7 ; then the

ratio of their radii is
A} 7:5 B) 5:7

(C)y 25:49 (D) 49:235

a7 7 s-:c'z A-7 lunz A=

(A} 49 ~ (B 7
€] 14 (D) O
098, dfe x=acosl e 124 y=bsin0 Al b2x? +a2y2 =
A) a’b? IBY" ab
) a'b? D) a®+ b’

[. S5 A7005 ] Page 36 of
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BIUE

il x=qcag
acos and y=bsinp then b?x?

+H2yzv
'a‘l'|.| “'-}-b-! |
B ab
€)  a'p’ .
'D] ﬂ'! i h*

w18

UF W 9 @ Jerg i sws w2 & 10§ & gl m pov R, A T
+1 Famd 2

(A) 10 By 1043

(C)  15/3 (D) 2043

The angle of elevation of the top of a tower at a distance of 10 m

from its base is 60° ; then the height of the tower 18

(A) 10m (B) 10¥3m
(C) 15¢3m (D) 2043 m

100. U wam yuf @ 30 ) Sar @ B ot g EngEd A 600 F EM
@t &, A1 g i e R

(A] 3042 B) 35Y3
() 204J3 (D) 4542 H

¢ is a at a height 30 m from the earth and its string makes an

A kit

angle 60° with the earth. Then the length of the string1s
(A) 3042 m (B) 3543 m

(C) 2043m D) 45V2m

——

. Page 37 of 44

5S/A/605 |

https://www.bsebstudy.com


https://www.bsebstudy.com/

VY - | [ BECTION - B
Y I wy / SB8hort Answer Type Questions

W HEa1 18 30 dw g 3weg wyA d1 g9 # Rt 15wt & gy 41 gl

ay & e 2 s Fatfea ) 15«2 =30
Question Nos. | to 30 are Short Ansuer Fyper Ouestions. Answer any
IS queshons Fach queston carnes 2 marks 15~ 2 - 30
| AB - AC dlel us wufgaie AABC & wgid e cp w fiad g ua e

Alafe AD 1 e M EE L AC R, A Tag #1 R AABD - AECE R

E s a point on side CH produced ol an isosceles AABC with
Al = AC I AD | BC and EF | AC, prove that AABL ~ AECE

Uk AAHC & Yol A 3 BC aw wifegs AD va WA APQR &)
Walsl PO 3R pR aur wifaw) pMoawm mueedl § oA fag
f& AABC ~ APOR.

Sides AB and BC and median AD of a AABC are respectively

proportional to sides PQ and PR and medium PM of another APOR
Then prove that AABC ~ APQR.

3. AABC A9 ADEF 84&Y £ A9l §& &A% Ny 0 g1 awm 64 G1? #)
afe DE = 5-1 84 & & AB 7@ &)

[

AABC and ADEF are similar and their areas are 9 cmzand 64 cm"’z
respectively. If DE = 5'1 cm then lind AB.

l+cos® _l+cosb
1-cos® ~ sin@

l+cos® 1+cosB
Prove that ¥1-cos®  sinb®

| SS/A/605 Page 38 of 44
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5 2w e o)

tan27® = ro1 H3% ca181°

Prove
Ove that tange tan27° =cot63° cotB1°

O f -3 : L
_ -.cnsA-gﬁFh cot A 3N cosec A % T A Hi |

4
If cos A =% then find the values of cot A and cosec A.

7 . D .
: afe tdﬂf}:ﬁm?ﬂsmﬂ+cosﬂiﬁ!mm#|

If lan“=% then find the value of'sin 0 + cos 0,

W Afe sin3A=cos(A-26°) B Tl 34 TH [ Fv1 R A A B UE AW

If sin3A=cos(A -26°), where 3A is an acute angle, then find the

value of A,

9 ﬂ#@naﬁmuﬁmsotqﬁaﬂﬂﬁmmﬁ%lpﬁ%;
Al " 7+
The sum of two numbers is 50 and one number is % umes of the

other ; then find the numbers.

10 341 ® ox o+ 18 wm A

Divide x> +1 by x + 1.

| @Eﬁwmqaﬂﬁmmmmsoqm | |RR &1 HoHo A Hil

Using Euchd's vision algorithm, find the H.C.F. of 504 and 1188,

Page 39 of 44
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b

14

15

16.

P11 |
foara mdrwm 262 4 5y - 3m0 & fadaw m wt st qgEn @ UFR D e
&l
Find the discriminant of the quadratic equation 2x7 +5x-3=0

and find the nature of the roots also

T EHITR S quile T &t B @l &1 am 365 &)

Find two consecutive posstive integers, sum of whose squares

15 Ih5
2w & anl & A 180 R) 61 sEn & @t @9 Hw & 9T [ R
W wu & fow mfiem fad)

The difference of squares of two numbers i1s 180. The square of the
smaller number is 8 times the larger number. Write the equation

for this statement

fee B POR 4 21 g s st Tyl PO 71 PR W wm: W wam R

fiw %=% A LPST -2PRQ, M Tag &t & APOR v unfgum

finga 2

In a tnangle POR, two points S and T are on the sides PO and PR

respectively such that %-—-ﬂ and ZPST =ZPRQ, then prove that

TR

APQR is an isosceles triangle.

afe foet vig & wun F B 7 @f @ o dard 24 N R A o
THYE & FASS A

If the radius of base of a cone is 7 em and its height 13 24 ¢cm then

find its curved surface area.

| S8/A/605 Page 40 of 44
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1 10|

T U A e g e 7 ad 24 a0 foaz @ g g wu Rear

The length of the minute hand for a clock 1s 7 cm. Find the ared

swept by it in 40 minutes

18 fog & % an 77 tan 60° tan 83° - 3

Prove that tan 7° . tan 60° . tan 83" = J3

9 Tz @ & 5 - /3 va whiva wen R

Prove that 5 -3 is an irrational.number
20k & fem w & for faegd (1,0 NERIEL AL 2

For what value of k points [ 1, 1 J. ( 3, k)and ( - L 4 | are
collinear 7 |

21, y-¥w W ouw el e oW g (6,5) 30 (- 4,3)8 @wgEY

Coa

Find such a point on y-axis which is equidistant from the points
{6,5)and{-4,3)

22, us 7 o) @@ A daw F g 30" T EW G R fEw @ w fag
ard wa & wE @) dar # e wA R

A ladder 7 m long makes an angle of 30° with the wall. Find the
height of the point on the wall where the ladder touches the wall

23, % mmim aqdd ABCD H [T AD & @ wm W Evs fa= R va BE,
cp® F g afaede & 2 @ W2 +1 % AABE - ACFB.

E is a point on the extended part of the side AD of a parallelogram
ABCD and BE intersects CD at F; then prove that AABE -~ ACFB

!'_ SS/A/{;QSJ Page 41 of 44
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LE0)
ABC v# nufgam suwm Bga 2 fasa o g #) g w i

24
ARY = 2AC
ABC s an isosceles night triangle with . C as rnight ungle Prove thiy
AR? =247
(25, 30 faeg i ek it i gl (- 1, 7) (4, 3) @1 foe e
THEIE W 2 3 & wua § sia-faifim s
Find the co-ordinates of the point which divides line segment
joiing the points (- 1, 7 Jand {4, - 3 )1 the rano 2 . 3 imternally.
26, hﬂﬂﬂﬂmmﬁflﬂiﬁ!ﬁlﬁiﬁﬁéﬂiﬂil—& L), 13, =5 #4l
(5.2)8
Find the area of the triangle whose vertices are 1 -3, - 1 1L {3, -5
and (5, 2)
27 e @@ & fawel 943 dt b ws @ e g dawe W
The diagonal of a cube 1s 9v3cm. Find the total surface area of
Cu_b"-'* https://www.bsebstudy.com
3 feom g W g omfe 22 - 20204120 % g A
Using quadratic formula find the roots of the ecquation
2x% -2/2x +1=0.
200 3+11+19+ .+ 67 % WGS 74 &
Find the sumof 3+ 11 + 194 . + 67
30 afe fell wwren A w1 591 wE o 9 w2 w43 T 70 B A wuiw wA
A &l |
If Sth and 9th terms of an A.P. are 43 and 79 respectiv-l find the
AP
| S8/A/605 Page 42 of 44
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| 10 ]
g ™Y gyw / Long Answer Type Questions

TV W 31 % 38 # Tita wyw b g @ fe 4w & T E )

m*ﬁ""{!sﬁ‘mhuiﬁah

Wuestion Nos

4 questions

31

32

33

Yaw amfem qm ..

4~5=20

1 to 38 are Long Answer Type questions Answer any

Each question carmies 5 marks 4v5=20

Wy -6=0 AU 2x-3y-12=0 & WAE @td 2w
we & |

Draw the kraphs of the pair of imcur equations x+3y-6=0 and

2x =3y -12=0 and solve them
fﬁ‘cﬂfﬁwﬂzﬁﬁﬂimmmquﬂiﬁmaﬁm%Ef:_w: ® i
naﬁwﬁﬁmmmmmﬁaﬁ&gﬁmiﬁm

If one angle of a tnangle is equal to one angle of the other tnangle
and the sides included between these angles are proportio

prove that the tnangles are similar

nal then

A I B ow wE WA e F AR oam T R ove e e &
AwE $ g R @ wen W W

A two digait number is four times of the sum of its digits and twice
the product of its digits. Find the number

7-ﬁ&ﬂ3#ﬂ@‘r€mmﬂ3¥ﬂ:ﬂ5-a%3ﬂmﬂﬁmﬁaﬁ|iﬁi
gt &1 J1fge)

Draw a line segment of length 76 cm and divide it in 1he ratin

5 : 8. Measure both parts.

[ 58/A/605 |
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110
18 mﬁh lSl‘CU-la_n_H_l

=1+2tan’ 0- 28cch thn b
(8ecH + tan 0)

¢ 0 - ( :
Prove that (s tan '! -_-l-.)mn",'ll—zgr-q'll tan 6
(sec®+1an0)

36 2 g R B s 10 @ s o a8 3w 47 1 famn am s

R offu g 31 a1 ) whfodt & am & s A1)
The radit of two circles are 19 cm and 9 cm respectively

Find the

radius of the circle which has circumference equal to the sum of

the circumferences of the two circles

3@ | 1193 135 15-17 [ 17-19 | 19-21 | 21-23 | 23.95

wrana 7 6 9 13 20 5 4
Find the mean of the following distribution
Class- o N , _ |
interval 11-13| 1315 | 15-17 17-19 | 19-21 | 21-23 23_25 \
Frequency | 7 6 9 13 20 5 a |

3. W g & foww @ friw S 4 w4 o v g f S
(ftfirai) laﬁmmeﬂﬂilmeammamﬁmmaﬁl

The slant height of a frustum of a cone 18 4 cm and the perimetets .

(circumferences) of its circular ends are 18 cm and 6 cm. Find the
curved surface area of the frustum.

 —— s
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